\, UALIFIED
Q-160R2 | :

w MODIFIER

SVE BULLETIN
SPECIAL VEHICLE ENGINEERING — BODY BUILDERS ADVISORY SERVICE
E-Mail via website: www.fleet.ford.com/truckbbas (click "Contact Us")
Toll-free: (877) 840-4338
QVM Bulletin: Q-160R2 Date: 17 February 2017

Single/Dual to Dual/Single Alternator Conversion

Models Affected: 2011 - 2016 Model Year F250/350/450/550.

Description: To add or remove the secondary alternator or upgrade the primary/secondary alternator, the PCM
must be configured properly at a Ford Dealer. It is important to configure the PCM with any alternator upgrades or
downgrades for the smart charging strategy to select the correct torque loss table for the alternator being used to
help maintain the accuracy of the torque management system.

Parts Required: The following parts may be required.

Single alternator to dual alternators:
Alternator Assembly: Primary: 200 amp BC3T-10300-BA

Secondary: 157 amp BC3T-10300-EC

Alternator Belt for dual alternators: BC3Q-8620-GA

Alternator Fasteners: W715092-S437: M10 x 92 mm (lower alt bolt) Qty 2
W715094-S437: M10 x 40 mm (upper alt bolt) Qty 2

Secondary Water Pump*: BC3Q-8501-BB

Wiring Harness: BC3Z-14305-F

*NOTE: In order to properly mount dual alternators you will have to change the secondary water pump
using the part number provided above.

Dual alternators to a single alternator:
Alternator Assembly: Primary: 200 amp BC3T-10300-BA
Secondary: 157 amp BC3T-10300-EC

Alternator Belt for single alternator: BC3Q-8620-FA

Alternator Fasteners: W715092-S437: M10 x 92 mm (lower alt bolt) Qty 1
W715094-S437: M10 x 40 mm (upper alt bolt) Qty 1

Harness inline connector cap: 4W7T-14A464-CB

NOTE: Changing the secondary water pump is NOT required when converting from dual alternators to a
single alternator.

Originator: BBAS Page 1 of 8 Date Issued: 10 Dec, 2010
Document: SVE Bulletin No.Q-160R2 revised 02/17/17



Reference the illustrations and tables below. Reference Attachment | for alternator removal and installation
procedures.

PCM Configuration

Final Stage Manufacturers can configure the PCM to add/remove the secondary alternator or upgrade the
primary/secondary alternator with a laptop computer by obtaining their own IDS Kit (Integrated Diagnostic Software)
sold by Ford. Below are two areas of the Motorcraft® Technical Resource Access website for the description and
ordering of tools and Kits.

Diagnostic Tool Support (product detail in left hand navigation menu):
http://www.motorcraftservice.com/vdirs/retail/default.asp?pageid=wds retail&gutsid=wds&menulndex1=8

Tools & Equipment (how to order):
http://www.motorcraftservice.com/vdirs/retail/default.asp?pageid=pubs rotunda&gutsid=pubs rotunda

Up-fitters will be asked to call 1-800-ROTUNDA Option #1 to order the kits. Another option is through the Ford
Fleet website, www.fleet.ford.com, if they have a FIN Code.

Once the service laptop has been obtained, and IDS installed, the following are the basic steps to configure the
PCM.

1. Ensure that the IDS is updated to 67.03 Database 4. Select "Powertrain”

5. Select the correct Primary and Secondary
Generator/Alternator Usage for vehicle

3. Select "Module Programming" 6. Verify and/or clear any DTC's

2. Select "Programmable Parameters" in the IDS Toolbox

If you have any questions, please contact the Ford Truck Body Builders Advisory Service as shown in the header of
this bulletin.

Originator: BBAS Page 2 of 8 Date Issued: 10 Dec, 2010
Document: SVE Bulletin No.Q-160R2 revised 02/17/17



Single Alternator Installation/Removal Procedures

414-00-2 Charging System

414-00-2

Generator — 6.7L Diesel, Dual Generator

17 Nm {150 Ib-n) -j'_'-i':]

s *"qu} ) 47 Nm (35 o) {8)
e /"' -

(77" 47 Mm (35 bt}

Z:.:EI._ F 4T M (35 b-fi)

Iem Part Number Description
1 B60 Accessory drive belt
1 SCHE Accessory drive belt idler pulley
3 — Acressory drive belt idler pulley bolt (part of 6C348)
4 WTl1953 Generator B+ termmimal mt
5 — Generator B+ termimal (part of 14305) — upper penertor
[ — Genertor edectrical conmector (part of 14305)
7 WT15082 Lower generator bolt
B WTL15094 Upper generator balt
] 10300 Generator (13305)

Remowval and Installation

ﬁm.m applies to the secondary (upper) genecator of the dual generator system Refer o the removal procedure for a single generator system o
remave the primary (lower) penerator.
1 Disconnect the battesies. For additional information, refer to Section 414-01.
1 Removethe Air Clamer (ACL) outlet pipe For addisional information, refer to Section 303-11
3. Ratate the accessory drive belt tensioner clockwise and remeve fhe drive belt from the zenerator pulley.
4 Remove the bolt md the accessory drive belt idler pulley.
To install, tizhten 1o 47 N (35 [b-50).
5. Femove the mt and position the genevator B+ terminal aside.
To install tizhten to 17 N (150 To-im).
6  Discommect the generator electrical commecton.

Originator: BBAS

Bemove the 1 penerator bolts and the gensrator.

T install, tighten to-47 Mm (35 b-f).

Page 3 of 8

Document: SVE Bulletin No.Q-160R2

Date Issued: 10 Dec, 2010
revised 02/17/17



Dual Alternator Installation/Removal Procedures

414-00-2 Charging System

414-00-2

Generator — 6.7 Diesel, Single Generator

T —
s [115; TETH; 3
777 47 Nm R
L {35 Ib-fY)
|
| %\
|
| | il
15 A "
[ | [ 47 Mmoo
IR {35 Ib-fty 2
1
| '-I
\ Y @
111 BEES
lhem Part Number Description
1 W7l1953 (Generator B+ termminal m
2 — (Genesator commector (part of 14300)
3 —- Generator B+ comnector (part of 14300
4 Ba20 Acressory drive belt
5 WIL5082 Lower generatar bolt
g 10300 (Genertor
7 W7l5004 Upper geneator bolt

Removal and Installation
Discommect the batteries. For additional mformation, refer to Section 414-01.
Bemove the Charge Air Cooler (ZAC) inlet tobe. Section 303-12
Bemove the Charge Air Cooler (ZAC) outlet tube. Section 303-12.
= To install, tizhten to 17 Hm {150 Ib-m).
7.  Bemovethe 2 penesator bolts and the senerator.
= Tomstall, tighten to 47 Nm (35 I-f).
£  Toinsall, reverse the removal procedre.

Mo W e

=3

Originator: BBAS Page 4 of 8
Document: SVE Bulletin No.Q-160R2

Date Issued: 10 Dec, 2010
revised 02/17/17



Primary (200amp) Alternator Mounting

NOTE: NOTE:

ALL FEAD COMPONENTS AND FASTENERS TE: R

MUST BE INSTALLED AND TORQUED BEFORE | | RACHEOUND BETAIL NOF FICTORALLY 10300

BELT INSTALLATION AN ot E ALTERNATOR ASY
{SEE WERS)

WT15094~-3543T (15mm HEX)
M10 X 1.5 X 40 BOLT & WASHER
HEX FLNG PILOT CON

TORQUE 47.5 #/=T.5 Nm

WT15092~543T (1 5mm HEX)
M1D X 1.5 X 82 BOLT & WASHER
HEX FLNG PILOT CON
TORQUE 4T7.5 /- 7.5 Nm

FRONT OF ENGINE
-

(BRACKET ASY-POWER
STEERING PUMP
MOUNTING)

Originator: BBAS
Document: SVE Bulletin No.Q-160R2

Page 5 of 8

Date Issued: 10 Dec, 2010
revised 02/17/17



Secondary (157amp) Alternator Mountin

NOTE: NOTE

ALL FEAD COMPOMENTS AND FASTENERS KO0 DE SIMPLIEIED

MUST BE INSTALLED AND TORQUED BEFORE EOR HSTALL AN AR 1D

BELT INSTALLATION
-10300~
ALTERNATOR ASY
(SEE WERS)

WT 15004-5437 (15mm HEX)
M10 X 1.5 X 40 BOLT & WASHER
HEX FLNG PILOT CON

TORQUE 47.5 +/- 7.5 Nm

L‘. . - p_:_\_-\_«_\-\{b
.:; 7

WT15002-5437 (15mm HEX) ' -.
M10 X 1.5 X 92 BOLT & WASHER RORNA 4
HEX FLNG PILOT CON A Va
TORQUE 47.5 +/- 7.5Nm =0,
i - I.
@ R e ',.*":

L (

FRONT OF ENGINE
(PUMP ASY-WATER])

Originator: BBAS Page 6 of 8 Date Issued: 10 Dec, 2010
Document: SVE Bulletin No.Q-160R2 revised 02/17/17



Single Alternator FEAD/Belt Routing

(PULLEY ASY-

ACCESSORY
ALTERNATOR ASY
DRIVE BELT) | el

(2) PLACES

(PULLEY~-
WATER PUMP)

@ (TENSIONER ASY-
ENGINE DRIVE BELT)

BC3Q-8620-F
BELT-DRIVE

(COMPRESSOR & I
CLUTCH .ﬂSY-NC}\\\ b

FRONT OF ENGINE i\ ;'l’"l
i g

(IDLER ASY-
ACCESSORY
DRIVE BELT)

(PUMP & PULLEY
ASY-POWER
STEERING)

WATER PUMF)

{(DAMPER ASY-
CRANKEHAFT

VIBRATION)

- 8620~ (1) | noTE:

BELT-DRIVE TO LOAD TENSIONER FOR BELT
INSTALLATION, INSERT SQUARE

DRIVE FROM 3/8 INCH RATCHET

OR BREAKER BAR INTO SQUARE
SOCKET AND SWING ARM CLOCKWISE.
PRIMARY ALTERNATOR IS LAST
PULLEY TO INSTALL BELT OVER.

Originator: BBAS Page 7 of 8 Date Issued: 10 Dec, 2010
Document: SVE Bulletin No.Q-160R2 revised 02/17/17



Dual Alternator FEAD/Belt Routin

{ALTERNATOR ASY
SECONDARY)

ALTERMNATOR ASY
DRIVE BeLT) |
() PLACES PRIMARY)

(PULLEY-
WATER PUMP)

@ (TENSIONER ASY-
ENGINE DRIVE BELT)

BC30-8620-Gw
BELT-DRIVE

(COMPRESSOR &
CLUTCH AS‘Y-NCj\\ i

FRONT OF ENGINE

(IDLER ASY=-
ACCESSORY
DRIVE BELT)

{PUMP & PULLEY
ASY-POWER

~% STEERING)

VAN (PULLEY-
- WATER PUMP)

(DAMPER ASY =
CRANKSHAFT
VIBRATION)

8620~ (1) [wote:

BELT-DRIVE TO LOAD TENSIONER FOR BELT
INSTALLATION, INSERT SQUARE
DRIVE FROM 378 INCH RATCHET

OR BREAKER BAR INTO SQUARE
SOCKET AND SWING ARM CLOCKWISE.
PRIMARY ALTERNATOR IS LAST
PULLEY TO INSTALL BELT OVER.

Originator: BBAS Page 8 of 8 Date Issued: 10 Dec, 2010
Document: SVE Bulletin No.Q-160R2 revised 02/17/17



